
A wheel of radius 120cm has two different marks on its rim. The distance along the rim between 

the mark is 40cm. Find the angle subtended at the center of the wheel by the marks. Give your 

answer in radian, degrees and revolutions. 

Solution 

The distance along the rim between the mark: 

𝑙 = 𝛼 ∗ 𝑅 

where 𝛼 (in radians) is the angle subtended at the center of the wheel by the marks, R – a radius 

of the rim. 

So 𝛼 =
𝑙

𝑅
=

40

120
=

1

3
≈ 0.33 𝑟𝑎𝑑𝑖𝑎𝑛𝑠. 

𝛼(𝑑𝑒𝑔𝑟𝑒𝑒𝑠) = 𝛼(𝑟𝑎𝑑𝑖𝑎𝑛𝑠) ∗
360°

2𝜋
=

1

3
 ∗

360°

2𝜋
= 19°. 

𝛼(𝑟𝑒𝑣𝑜𝑙𝑢𝑡𝑖𝑜𝑛𝑠) =
𝛼(𝑟𝑎𝑑𝑖𝑎𝑛𝑠)

2𝜋
=

1

3
 ∗

1

2𝜋
= 0.05 𝑟𝑒𝑣𝑜𝑙𝑢𝑡𝑖𝑜𝑛𝑠. 

Answer: 𝟎. 𝟑𝟑 𝒓𝒂𝒅; 𝟏𝟗°; 𝟎. 𝟎𝟓 𝒓𝒆𝒗. 
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